Arithmetic of Exponents (Negative Exponents)

(-8 - (-6) =
2’ —(-5) =

4> +(-2)=

47 42 =

3 +4=
DT+ (6) =
9 +1=

(-2)° —4 =
1002 42 =

(=3)* +(-10) =

Date: Score:

(1) +(-3)=
oD +(=7) =

150 —(-10) =
1002 + (—4) =

(-6~ (-10) =

(_1)(—2) — 4=
(_1)(—1) —3 =

(9" +(3)=
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Arithmetic of Exponents (Negative Exponents)

Name
47
(8= (6)= ¢ =5
8
22 —(-5)=9
4 +(-2)= 14
33 1
(-2) +0 = — = 2__
4 SRRTIREST:
32 +4=13
(1) +(=6) = (-5)
9% +1=282
(—2)> —4=0
201 1
Dy 200 5 L
10 2= 700 2100

(=3)° +(=10) = (-1)

Date: Score:

D+ (3)=(2)
Dy oy = (22 68
O +(=7) = () = (-63)

1TV —(-10) =11

_ 399 9
1074 (-4) = (~155) = 31g5)

(—6)° — (-10) = 11
19—4=(-3)
7% —1=438

(D) -4=(3)

DTV =3=(4)

- 242 80
97+ = (g = (25

www.snowmath.com



https://www.snowmath.com

